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 1992  1993  1994  1995  1996  1997  1998  1999  2000  2001  2002  2003  
1 2 3 4 5 6 7 8 9 10 11 12 13 

�1 1 0,975 0,927 0,892 0,92 0,844 0,806 0,875 0,873 0,898 0,872 0,876 
�2 1 6,73 20,01 57,57 76,07 83,78 80,8 146,85 229,98 240,82 322,39 372,92 
�3 1 0,34 0,107 0,0885 4,356 4,062 7,062 5,403 4,446 4,219 4,181 4,215 
�4 1 9,212 32,41 92,84 130,29 138,95 120,25 196,05 337,19 406,9 403,95 482,81 
�5 1 1,618 1,982 1,018 0,436 0,818 0,527 0,346 0,291 -0,236 -0,346 -0,873 
�6 1 1,007 1,014 1,022 1,025 1,024 1,025 1,022 1,019 1,004 1,004 1,0023 
�7 1 0,664 1,227 1,463 1,086 1,777 2,367 2,771 2,346 1,678 2,017 2,253 
�8 1 1,111 3,037 3,407 4,111 3,333 3,556 1,741 1,444 2,074 2,815 2,63 
�9 1 1,089 41,47 97,35 156,18 197,35 187,65 317,15 424,41 563,47 725,35 922,06 
�10 �� �� ������ ������ ���		� ����
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 x1 x2 x3 x4 x5 x6 x7 x8 x9 x10 
x1 1          
x2 -0,0965 1         
x3 -0,669 0,331 1        
x4 -0,067 0,98 0,35 1       
x5 0,24 -0,90 -0,57 -0,91 1      
x6 -0,25 -0,8 0,093 -0,8 0,59 1     
x7 -0,66 0,46 0,65 0,41 -0,474 -0,04 1    
x8 -0,01 -0,52 -0,17 -0,55 0,33 0,36 -0,63 1   
x9 -0,1 0,99 0,32 0,97 -0,9 -0,83 0,43 -0,45 1  

x10 -0,05 0,98 0,25 0,98 -0,84 -0,81 0,45 -0,61 0,96 1 
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Y = 0,985 – 0,055�L
7
.               (2)
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Y = -7,64 + 0,736L
7
,                (3)

R2 = 0,97; tβ
7
 = 18,55; F = 344; � < 0,005; �

3
 = 1,06.
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Y = 213,8 – 140,74L
5
,                (4)

R2 = 0,82; tβ
5
 = -6,8; F = 46,2; � < 0,005; �

3
 = -0,57.
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Y = 0,94 – 0,014L
3
,                 (5)

R2 = 0,56; tβ
3
 = -3,38; F = 11,47; � < 0,013;
�

3
 = -0,051.
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Y = 1,28 + 1,724L
5
,                 (6)

R2 = 0,4; tβ
3
 = 2,35; F = 5,53; � < 0,013.
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 �1 �2 �3 �4 �5 �6 �7 �8 �9 �10 
�11 0,292 0,99 -0,42 0,99 0,9 -0,9 0,18 -0,65 0,98 0,99 
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 X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 

X1 1,00           
X2 0,68 1,00          
X3 0,61 0,53 1,00         
X4 0,49 0,09 0,27 1,00        
X5 0,90 0,62 0,53 0,49 1,00       
X6 0,83 0,86 0,41 0,06 0,78 1,00      
X7 0,62 0,69 0,87 0,15 0,60 0,57 1,00     
X8 0,97 0,55 0,61 0,60 0,89 0,70 0,55 1,00    
X9 0,66 0,44 0,40 0,35 0,55 0,52 0,34 0,66 1,00   
X10 0,68 1,00 0,53 0,09 0,62 0,86 0,69 0,55 0,44 1,00  
X11 0,89 0,80 0,65 0,21 0,82 0,91 0,75 0,79 0,63 0,80 1,00 
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Y = -29.88 + 0.002X

7
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t
7 
= 3.47 t

8 
= 29.35 t

9 
= -1.42 t

10 
= 4.1 t

11 
= 7.8
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